U4D5 Group Work Answers per1.notebook November 13, 2019

Hand in GrHW#6 w/ work stapled to the back.
Leave HW that's due on your desk for me.

QUIZ

Nov 11-9:25 PM

pg 370-373 (;L:.e_x 22) Lk ~
10) d / 7

5) f 6) c 7) e 8) b 9) a

22) Jreflected over the x-axis and over the y-axis, up 2

9

23) Vertical compression of Va ,.oqé>
39) reflected over the y-axis, right 1 C) qO:-/OO( <
4 U}L\
40) Horizontal compression of 2, up 1 N 2%
S \)X (7/0) =& +/
65) b) 63% ({c)) 57.56 days
66) b) V(1) = $58.69 V(4) = $77.29 V(12) = $78.00

V(2) = $71.57 V(6) = $77.92
c) 2.69 months

Nov 19-7:49 PM
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Nov 12-9:09 PM

For 1 - 4: Find the inverse. 51'ct1'e the domain and range for the function and its inverse.

1@%=$ "" VA@ Domain f(x) X=’=3 /00 3) U(‘S Oo)

@ X-= —){éx HA Range #(x) U~ / (oo I)U[ | oo)
o e Yol (oo UL 1,20)
@ 3)( X\l \/+5 @Domamf'l(x] X:‘: s )
3\( J= \{+X\/ Range f(x) ‘-’3:#5 600)3>U(3J°O>

HVI - @I o, )-EX

\+x Sty

Nov 13-2:06 PM
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2. @-F(-\),c}z ix+1 \/ q @Domain f(x) X* Lll' goo, LD U(LI')OO>
= /
@ X % HA Range f(x) V’#Z (—w’2> 0[2)00)

- Y¥=2V+|
@)\((\/\/_42\}-_- qyx-:_' @Domain fi(x) X’Lz (~Oo,2> U(Q,QO)
\/(X—Q) q-X"" Range f(x) \!il'l' 6001‘-]) U(Ll';oo>
y= & 4><+/
£7(x)= x|
0 (-

Nov 13-2:07 PM
3 @1‘(:4'): m ®Domain f(x) X—> “[’ EL'L) 00)
% ))((z: {/\{—'-/q Range £ Y20 £0,2)
X7:|_q = \/ @ Domain f(x) X2 @, EOJOO>
@ '(\ '( ) X “ % Range (x) ljz 4 [L’- )oo)

Nov 13-2:07 PM
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4@!‘%:):2—4:(, x>=2 @omain f(x) Y)Q (Z,OO>
(Hint: Notes U4D1 #4)

@ X= Ya_qy Range f(x) @>_ Ll (_ L{—,OO)
X"\IL = \{7—_ W"‘q (2)‘"*@ @omain f(x) Y>‘q (— q') OO)
e T

+ X+ 2 V5

® £'(x)= {xrq4 42 —

Nov 13-2:07 PM

5. Graph the function and its inverse. Make a table of values. f(x) = I 3

60
o -3 -2 -1 0 | 2 3 |
Tyl 2 (0 z2z3% N H
F *|RY 2 | izf‘lE\
yr3-2-1 0 | 23

Domain f(x) _\—° JM) Xem Domain f1(x) (0,00B )(>0
Range f(x) __\_ O IOO> 9>O Range f{(x) <_oo )00> 'jeTL

Nov 13-2:07 PM
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given function.

6. g(x)=2(3<*1)-5 7. h(x)z-3%+4
Verdicalsirelch 2 Ny gyis
left | Up 4
down 5

6 - 8. Describe the transformation(s) needed te transform f(x) = 3% into the graph of the

j)=3%+7

rg-axi S

Op /

Nov 13-2:08 PM

9 - 11. Write in exponential form

9. log:8:=3 10. logaB=7J

=8 AJ R

11, logb5=x

0%=5

Nov 13-2:08 PM
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12 - 13. Write in logarithmic form

12. 3*:=81 13. K*= 14, 2+#=

[09381:4 IO@KM A jog —_27-

Nov 13-2:08 PM

15 - 17. Evaluate.

1 i

15. logesd= 3 16. log:64 = @ 17. |ogg% =~ 2
X _ X X

ot =4 2= bt Q=3

L’ - L}' 2)(:2(9 32s<= 3—‘

Nov 13-2:08 PM
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